Guidance document 36-37

The Triple and Half angles fomulas
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Learning outcomes Appply the sum and difference,double- angle and half- angle

identities to problem solving
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Intended destination Appply the triple and half angle identities to problem solving
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1) sin30=23sin6—4sinS 0 3) tanse:mne—m;e
1-3tan“ 0
39_
2) c0s 30 =4 ¢os S 0 —3¢os 0 4) cot36=COt O-3cot 6
3cot29-1
Prove the identities —tan 3
3) tanzp--tn0-tan”o ta; 0
1) sin30 =3sin6—4sinS 0 1-3tan“ 0
tan( 26 + 0) = tan 20 +tan 0
sin 30 =sin(20 + 0) 1—tan 26tan 6
=sin20cos 0 + cos 20sin O {ane]ﬂan 0
2
. .2 . ~_\1-tan” 96
=2sin0Ocos 6cos O+ (1 —2sin“ 0)sin6 =
2tan O
) 2 ) 3 1-|—=“— |tan ®
=2sin0cos“ 0+sin®—2sin* 0 1—tan? 0
= 2sinO(L —sinZ 6) +sin0 —2sin> 0 2tan O+ tan O — tan 3 ©
—25in0—25in° 0 +5sinO—2sinS 0 - 1-tan’6
. . . 3 1-tan20-2tan? 0
sin30 =3sin6—-4sin~ 0
3 1-tan? 0
2) cos 30 =4 cos° O6—3cos 0 3
_2tanO+tan O—-tan> O
cos 30 = cos( 26 + 0) 1—tan29—2tan26
= oS 20cos O —sin20sin O =
= cos 20cos 6 —2sinOcos Osin O q cot3e:00t39_300t9
' 2
— (20032 0—1)cos 0—2sin? Bcos O 3cot=6-1
3 2 cot 36 = cot(26 + 0) e
=2cos” 0—cos 6—2(1L—cos“ 0)cos O
—2c0s30 —cos0—2cos0 +2cos3 0




2) The Half angles fomulas

1sin9=i 1 cose(sinzezl—cosze) 3 tangzifl—cose
2 2 2 1+cos 6
2 C039=i 1+cose(cosze=1+00526) q cot9=i 1+cos O
2 2 2 2 1—cos 6
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Example Find the values of triple and half angle

Given, sin@ = _?3 ,180° <06 <270° find the values of cos 36, tan Se,sing,cot g

solution SIN O = et
COS 0 = e
TAN O = e
COS 30 = oo TAN 30 = oo,
o - 180° 6 270° 90° 9 :|_35°'6 g Q
180° <0 <270° .. <— o <5< 5 9% 2
2 2 2
.0 1-cos O 0 1+cos 0
SIN = = [T e COt — = — [ e
2 2 2 1-cos 0
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1. cosece:E 15D 0° <p< X
3 2

2.7 c0s1.04 =0.50 Q991 sin0.52

3.cos64° = 0.44 %7 o532

4.0° <0< way sec =299 tan O
2 4 2

5. -180° <6<-90° @Y

.11 sin 30, cot 30

tan 6 =1 939%1 cot g
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